
A-A ( 1 : 1 )

D-D ( 1 : 1 )

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

di Gennaro Gianni

mH
 


 


1:1

0302

 



PROMEC










 





G. Gennaro

R. De Salvo

LCGT.0310-03


01-03-11

A2



A

A

D

D

    
    

129 1 AISI 304 1:1
128 1 ARMCO 1:1
127 1 ARMCO 1:1

127.1 1 S235JO 2:1
ref. pieces material scale

   
 added part 127.1 08-06-11
 modified parts 127-129 03-06-11
 added note 27-04-11

modifications
ref. note date

   
   
   
   
   
   

ref. draw. legend

9
5

61
11

80

20

R61,5

11
4


-0

,0
00

0,
05

0
+

4,5

8

2


7,

5

104,5

100

R10

2 X 45°

7

n°3 at 120°

M3x0.5 - 6H


4,

3

98

18

54
,5



114

33,1

8

25,1

23,1

27,1

35


R4

R4

R4

85

72

104,5

98
11

4


-0
,1

00
0,

05
0

-

22,5°

M4x0.7 - 6H

2

8

127

128

129

LCGT-SAS
DETAILS CENTRAL GROUP-Gr.3

light nickel plated

light nickel plated

These parts are same as on drawing 0209

22,5°

60

12

M5x0.8 - 6H12

21

1,5

6

M4x0.7 - 6H

18

5

10 6

1 X 45°

0,5 X 45°

127
1 ligth nickel plated

Note: To be used to center 127 to wire
while tuning the LVDT zero point.


